TECHNICAL SPECIFICATIONS
Material: Zinc
Plating: Nickel
Operating Temperature: -25°C to +90°C
Jackscrews: M2.5 B
é No. of contacts: 09-15-25-37
Iltem | QTY | Part description E
1 1 Upper Cover
2 1 Lower Cover
3 3 TX M2.5x6 Screw
4 1 Cable Clamp
5 1 Plastic Insert
6 1 Rubber Grommet
7 2 | Jackscrew M2.5x18 F
UROHS compliant Scale | Free Date e Customer-No.
nit: mm
TOLERANCE Drawn 17.08.2017 | S.Bélling
0~6 | 0.10 G
Approved | 17.08.2017 | S.Bélling | ASSMANN WSW-No.
~ +0.20
B0 - ACOV-SUB-09MB35
30~120| 0.3
120~400 +0.50 O
ASSMANN SRR I
Angle | +1° @| Drawn 17.08.2017| S.Bélling i =
\‘i&v@;‘aﬁvf CompOnentS Replace Sheet 1/4
Angle | Tol |[Id Modification Date Name
1 3 4 5 6 7




TECHNICAL SPECIFICATIONS
Material: Zinc
Plating: Nickel
x Operating Temperature: -25°C to +90°C
= Jackscrews: M2.5 B
No. of contacts: 09-15-25-37
=l
15 C
Iltem | QTY | Part description E
1 1 Upper Cover
2 1 Lower Cover
3 3 TX M2.5x6 Screw =]
4 1 Cable Clamp 2
5 1 Plastic Insert
6 1 Rubber Grommet
7 2 | Jackscrew M2.5x18 F
UROHS Comphant Scale | Free Date e Customer-No.
nit: mm
TOLERANCE Drawn 17.08.2017 | S.Bélling
0~6 | 0.10 G
Approved | 17.08.2017 | S.Balling | ASSMANN WSW-No.
~ +0.20
i ACOV-SUB-15MB35
30~120| £0.30 :
120~400| £0.50 B,
Angle | 1° @| Drawn 17.08.2017| S.Bélling i~ o
\WSW CompOnentS Replace Sheet 2/4
Angle | Tol |[ld. Modification Date Name
1 2 3 4 5 6 7 SV4382




TECHNICAL SPECIFICATIONS
fﬂ; Material: Zinc
o Plating: Nickel
fl“ . N Operating Temperature: -25°C to +90°C
24 = Jackscrews: M2.5 B
=
A4)
i No. of contacts: 09-15-25-37
../' ] %\II
e 54 14.9 C
!“ ) D
’\D
foy)
\\_JI
Iltem | QTY | Part description E
1 1 Upper Cover
2 1 Lower Cover
3 4 TX M2.5x6 Screw
4 1 Cable Clamp
5 1 Plastic Insert
6 1 Rubber Grommet |
7 2| Jackscrew M2.5x18 47.0 | F
UROHS Comphant Scale | Free Dita i Customer-No.
nit: mm
TOLERANGCE Drawn 17.08.2017 | S.Bélling G
0~6 | +0.10
Approved | 17.08.2017 | S.Bélling | ASSMANN WSW-No.
~ +0.20
50 ACOV-SUB-25MB35
30~120| £0.30
Drawing-No.
120~400 +0.50 Ll e
LEEIVENIY| Ass_s276 co |revoo |,
Angle | 1° @| Drawn 17.08.2017| S.Bélling i~ e
\E“f“‘.@vfu“lf CompOnentS Replace Sheet 3/4
Angle | Tol |[ld. Modification Date Name
1 3 5 6 7 Sv4382




TECHNICAL SPECIFICATIONS
S i Material: Zinc
o0 L ) Plating: Nickel
<r C »] Operating Temperature: -25°C to +90°C
Jackscrews: M2.5 B
No. of contacts: 09-15-25-37
Item TY | Part description
1 1 Upper Cover
2 i Lower Cover
3 4 TX M2.5x6 Screw
4 1 Cable Clamp
5 1 Plastic Insert F
6 2 Jackscrew M2.5x18
T 1 Rubber Grommet
UROHS compliant Scale | Free Dita B Customer-No.
nit: mm
TOLERANCE Drawn 17.08.2017 | S.Bélling
0~6 | +0.10 G
Approved | 17.08.2017 | S.Bélling | ASSMANN WSW-No.
~ +0.20
o0 - ACOV-SUB-37MB35
30~120| 0.3
120~400 +0.50 Drawing-No.
ow_| T ASSMANN ([EESE7I RO LT Y
Angle | 1° @| Drawn 17.08.2017| S.Bélling e e
\1':&?.@":\“{1{ Compon ents Replace Sheet 4/4
Angle | Tol |[ld. Modification Date Name
1 3 4 5 6 7 Sv4382




